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Introduction
These exemplar answers have been chosen from the 
summer 2017 examination series. 

OCR is open to a wide variety of approaches and all 
answers are considered on their merits. These exemplars, 
therefore, should not be seen as the only way to answer 
questions but do illustrate how the mark scheme has 
been applied. 

Please always refer to the specification (http://www.
ocr.org.uk/Images/170839-specification-accredited-a-
level-gce-economics-h460.pdf ) for full details of the 
assessment for this qualification. These exemplar answers 
should also be read in conjunction with the sample 
assessment materials and the June 2017 Examiners’ 
Report to Centres available on the OCR website http://
www.ocr.org.uk/qualifications/.

The question paper, mark scheme and any resource 
booklet(s) will be available on the OCR website from 
summer 2018. Until then, they are available on OCR 
Interchange (school exams officers will have a login for 
this). 

It is important to note that approaches to question 
setting and marking will remain consistent. At the same 
time OCR reviews all its qualifications annually and may 
make small adjustments to improve the performance of 
its assessments. We will let you know of any substantive 
changes.

http://www.ocr.org.uk/Images/170839-specification-accredited-a-level-gce-economics-h460.pdf
http://www.ocr.org.uk/Images/170839-specification-accredited-a-level-gce-economics-h460.pdf
http://www.ocr.org.uk/Images/170839-specification-accredited-a-level-gce-economics-h460.pdf
http://www.ocr.org.uk/qualifications/
http://www.ocr.org.uk/qualifications/
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Question 1(a)(i)

What relationship does Fig. 1 suggest existed between changes in real GDP and changes in rail passenger 
journeys between 2004 and 2015?	 [1]

Exemplar 1 – 1 mark

Section A

Exemplar 2 – 0 marks

Examiner commentary
Clear answer in terms of ‘positive relationship’, the first bullet 
point of mark scheme.

Examiner commentary
This answer was just too vague. ‘Similar’ and ‘direct relationship’ 
were not enough to show a positive relationship or show 
understanding of as GDP increases so do rail passenger journeys.
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Question 1(a)(ii)

How would an economist explain this relationship?	 [2]

Exemplar 1 – 1 mark

Examiner commentary
This answer did not say enough for 2 marks. It does get one 
mark for increasing income, but does not link it to ‘affordability’ 
or ‘increase in consumer confidence’.

Exemplar 2 – 2 marks

Examiner commentary
Marks given for fall in GDP, lower disposable income, so demand 
falls as consumer confidence falls. This candidate puts the reason 
opposite to mark scheme (second point in guidance), but is still 
valid.



Exemplar Candidate Work

6

A Level Economics

© OCR 2018

Question 1(b)

Identify and explain, using the stimulus material, one reason why the privatisation of the rail network has 
made it a more contestable market.	 [2]

Exemplar 1 – 1 mark

Examiner commentary
This answer got 1 mark for application regarding ‘bid’, but would 
have needed to show an understanding of a characteristic of a 
contestable market.

Exemplar 2 – 2 marks

Examiner commentary
‘Bidded’ shows application and ‘sunk cost’ shows understanding 
of a contestable market. A clear accurate answer. 
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Question 1(c)

Explain, using a diagram, why the high level of fixed costs in providing the infrastructure of the railway 
network make it an example of a natural monopoly.	 [3]

Exemplar 1 – 0 marks

Examiner commentary
Diagram is a monopoly diagram, rather than a natural monopoly 
diagram, so no marks. ‘High barriers to entry’ not enough for the 
explanation, as it still relates to a monopoly.
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Exemplar 2 – 3 marks

Examiner commentary
A very clear diagram showing a natural monopoly and LRMC 
being below LRAC. It also shows with two price levels and 
two quantities that there are lower AC of a single firm. The 
explanation covers bullet point 2 on the mark scheme in terms 
of increasing economies of scale mean that LRAC is constantly 
decreasing.
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Question 1(d)(i)

What evidence is there in the stimulus material of TOCs engaging in price discrimination?	 [2]

Exemplar 1 – 0 marks

Examiner commentary
A typical incorrect answer where an understanding of price 
discrimination would need to be shown.

Exemplar 2 – 2 marks

Examiner commentary
A clear answer showing knowledge of price discrimination and 
applies it to the stimulus. Showing different prices at different 
times.
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Question 1(d)(ii)

Evaluate the extent to which the consumer benefits from price discrimination by a firm with monopoly 
power.	 [8]

Exemplar 1 – Level 1 – 3 marks
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Examiner commentary
There is strong knowledge and application in this answer, for 
diagrams and knowledge of peak and off peak they also showed 
knowledge of price discrimination and monopoly, but it was 
should have been linked to the benefits to the consumer. This 
answer does go on to show reasonable analysis about benefits 
through cross subsidisation and lower affordable price. They 
could have gained more marks by developing this point in terms 
of greater consumer surplus. Also there should have been the 
evaluation of how it may not be a benefit. So strong knowledge 
and application, reasonable analysis, but no evaluation, so not 
enough for L2 and because there is strong knowledge and 
application it gets towards the higher end of level 1, 3 marks.
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Exemplar 2 – Level 2 – 8 marks
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Examiner commentary
This is an excellent clear answer that is fully focused on the 
question set. Many candidates confused this question and 
focused on monopoly power rather than price discrimination. 
It starts an explanation of what price discrimination is, so there 
is reasonable knowledge in the first paragraph. In the second 
paragraph it starts with why price discrimination will be worse 
for consumers (this is acceptable for one sided analysis). A 
clear diagram and good use of theory is used to show strong 
analysis and shows good knowledge. The last paragraph on 
page 7 ‘However’, becomes evaluation in terms of looking at the 
benefits to consumers, again with a clear chain of reasoning and 
further use of the diagram. There is further evaluation on the 
additional pages, linked to consumer surplus. The last paragraph 
shows a judgement in terms of it ‘crucially depends upon 
whether the profits are re-invested or not’. So good knowledge, 
strong analysis, and strong evaluation. L2, 8 marks
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Question 1(e)

Evaluate, using evidence from the stimulus material, the case for private sector ownership of passenger 
rail services.	 [12]

Exemplar 1 – Level 3 – 9 marks
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Examiner commentary
The answer is unclear in the opening few lines, but then gets 
knowledge for number of private firms being in the market to 
compete for consumers. They then go on to analyse the benefit 
in terms of increased efficiency and the answer has reasonable 
analysis in terms of lower prices and higher output. There is 
more knowledge shown through the diagram on page 9 and 
application to the case study below that. On the additional page 
(page 18) there is good evaluation of why a public run service 
may be better. This shows good use of theory, which is well 
linked. A judgement would have brought this answer to strong 
evaluation. There is good knowledge, reasonable analysis and 
good evaluation. The analysis could have been improved by 
using the data more to evidence points. This answer has enough 
to get into L3, but because the analysis was only reasonable 
(which is L2) it gets the bottom of L3. 9 marks.
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Exemplar 2 – Level 3 – 12 marks
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Examiner commentary
An excellent answer that gained full marks. It starts with clear 
knowledge of what private sector ownership means. There is 
further clear knowledge in terms of efficiency and links this to 
consumer surplus. The diagram is clear and well analysed so is 
good analysis. The question asks candidates to use evidence 
from the stimulus and this is done at the bottom of page 8 
and top of page 9 and is linked to the analysis, so it is now 
strong analysis with application. The structure of this answer 
is very clear. The case for is presented then the case against, 
starting with ‘on the contrary’. This paragraph has a clear chain 
of reasoning and is good evaluation. The last paragraph shows 
clear judgement of the case for and justifies it in terms of ‘only 

beneficial if the correct safeguards are implemented by the 
government’ There is good knowledge and application, strong 
analysis, and strong evaluation, so L3, 12 marks. (It is worth 
noting that if the question asks for evidence from the stimulus 
then evidence is required for top marks)
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Question 2

The world price of oil fell from over $100 a barrel during 2014 to below $45 a barrel in 2016.

Evaluate, using an appropriate diagram(s), the usefulness of the free market forces of demand and supply 
in analysing commodity markets, such as oil.	 [25]

Exemplar 1 – Level 2 – 6 marks

Section B
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Examiner commentary
The diagram shows knowledge and application because it is 
in terms of oil. There is also reasonable analysis of the diagram 
below it. The next paragraph talks of market forces being unfair, 
which is not answering the question set. The last paragraph 
could have been improved by developing the argument and 
the evaluation, i.e. by showing sufficient cause and effect in the 
analysis or evaluation. So reasonable knowledge and application, 
reasonable analysis and limited evaluation. This is borderline L1/
L2 so just gets into the bottom of L2. 6 Marks 
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Exemplar 2 – Level 5 – 22 marks
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Examiner commentary
Reasonable knowledge shown in first paragraph and combined 
with the diagram also is awarded limited analysis. The next 
paragraph on page 11 is incorrect when saying that a fall in 
price will cause a shift in the demand curve. The paragraph at 
the bottom of page 11 is a stated point of evaluation in terms of 
government restrictions, so it is at this point limited evaluation. 
Then later in same paragraph analysis for forces of demand and 
supply show why prices fluctuate so much. The first paragraph 
on page 12 takes the answer to reasonable analysis in terms 
of inelastic demand. The next paragraph also clearly answers 
the question in terms of the usefulness of demand and supply 
and extends the answer in terms of producer surplus, so is now 
strong analysis. Bottom of page 12 also becomes reasonable 
evaluation in terms of ‘used depends on the level of intervention’. 
Good evaluation is achieved on the top of page 13 in terms of 
government subsidies and buffer stocks. There is also judgement 
in the conclusion in terms of ‘government may deliberately 
change demand and supply’

So reasonable knowledge and application, strong analysis and 
strong evaluation. There were some errors in understanding, so 
there was just enough achievement on balance for this level and 
hence 22 marks.
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Question 3

In April 2016 the UK National Minimum Wage for those aged 25 and over was increased by over 7% from 
£6.70 per hour to £7.20 per hour. It is now called the National Living Wage.

Evaluate, using an appropriate diagram(s), the impact on an economy of an increase in the minimum 
wage.	 [25]

Exemplar 1 – Level 3 – 13 marks
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Examiner commentary
Good knowledge for increasing minimum wage and a well 
labelled diagram. Bottom of page 11 they say, ‘minimum wage 
imposed’ which is not answering the question. They then go on 
to analyse the impact in terms of unemployment and reducing 
government expenditure, but then the answer becomes 
confused, so analysis is just reasonable. The evaluation is also 
reasonable in terms of capital intensive. There is a further point 
of analysis regarding increasing income and GDP, which takes it 
to good analysis. The rest of the answer does not add anything 
more. So good knowledge and application, good analysis 
and reasonable evaluation, which is L3, but there are some 
inconsistencies so middle L3, 13 marks 
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Exemplar 2 – Level 5 – 24 marks
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Examiner commentary
This is an example of a strong answer. The diagram is correct 
and fully labelled, and they do talk of an increase in the NMW, 
a better diagram would have shown the increase from £6.70 to 
£7.20 and would have gained application marks. There is also 
reasonable analysis of the diagram, which then gets reasonable 
evaluation for also considering the disadvantages an increase in 
the NMW may cause. The second paragraph on page 11 goes 
on to show further analysis in terms of increase in MRP which 
is now good, page 12 shows another correct diagram, which 
gets a further knowledge mark. Analysis becomes strong with 
the explanation of the diagram. There is further knowledge of 
the theory (MR X MPP). The last paragraph on page 12 becomes 
good evaluation when it talks of unemployment occurring 
if not met by an increase in productivity. On page 13 there is 
a judgement in terms of it depends on productivity and rate 
of increase, so it becomes strong evaluation. There is good 
knowledge, strong analysis, and strong evaluation, which is L5. 
It gained 24 marks, if there had been the application on the first 
diagram or elsewhere in the answer it would have gained full 
marks.
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Question 4

Perfect competition theory is based on a set of very unrealistic assumptions.

Evaluate the usefulness of perfect competition theory in explaining the behaviour of firms in the real 
world.	 [25]

Exemplar 1 – Level 2 – 6 marks

Section C
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Examiner commentary
Knowledge given for assumptions and being unrealistic. Further 
knowledge for diagram, despite it not being fully labelled. 
They do go on to say why the assumptions are not useful, so 
limited evaluation, this point is stated rather than developed. 
Hairdressers is not a good example to use, but there is limited 
analysis for ‘perfect competition is comparable to the real world’. 
The summary at the end adds nothing more to the answer. 
Good knowledge and application, limited analysis and Limited 
evaluation. Takes it to just above L1 and hence bottom L2 6 
Marks

Exemplar 2 – Level 5 – 25 marks
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Examiner commentary
This is an excellent answer and one that is fully focused on the 
question set. There were unfortunately many candidates that 
saw this question as merely the advantages and disadvantages 
of perfect competition and hence only achieved marks in L1 
or L2. It is interesting to note here that the candidate clearly 
underlined the important parts of the question and did some 
very brief pointers under each part of the question and focused 
their answer on that. The stem/line before the question is 
there to guide candidates, but is often ignored. This answer 
starts with a clear knowledge of what the assumptions are 
and immediately makes it clear what the question is about 
in terms of usefulness. The diagram is correctly labelled and 
gains another knowledge point and a further one for clear 

knowledge of theory (top of page 15) The answer then goes 
on to analyse the usefulness (again using the wording of the 
question) and gains good analysis. In the next paragraph they 
achieve strong analysis in terms of usefulness in making a profit 
and developing their point. The answer then starts to evaluate 
why perfect competition may not be useful (again using the 
wording of the question) (bottom page 15 and top of page 16) 
The next paragraph becomes good evaluation when they make 
a comparison between oligopoly and perfect competition to 
show how perfect competition is unrealistic. The last paragraph 
is a clear judgement in terms of ‘benchmark’ so now strong 
evaluation. There is strong knowledge throughout. So, all the 
criteria for L5 are present, hence 25 marks. 



Exemplar Candidate Work

40

A Level Economics

© OCR 2018

Question 5

Profit maximisation is an unrealistic objective and does not explain the behaviour of firms in the real 
world.

Evaluate the extent to which profit maximization is the most important objective influencing the activities 
of a firm in the real world.	 [25]

Exemplar 1 – Level 1 – 5 marks
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Examiner commentary
This is a typical weaker response, where the candidate did 
not fully address the question set. Knowledge given for first 
paragraph and application for ‘not for profit, analysis for ‘investing 
for shareholders’, evaluation for alternative ‘survival’ and again 
for ‘depends on the economic situation’. This answer could have 
been improved by analysing why profit maximisation is the 
most important objective. Other objectives should have been 
considered, and the diagram needs to be labelled.

So reasonable knowledge and application; limited analysis and 
reasonable evaluation. Two of the three descriptors for L1 are 
there, evaluation is a reasonable, but not enough for L2, so top 
of L1.



Exemplar Candidate Work

44

A Level Economics

© OCR 2018

Exemplar 2 – Level 5 – 23 marks
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Examiner commentary
The answer starts by showing clear knowledge of profit 
maximising being where MC=MR, it then analyses a reason 
why firms seek to profit maximise (profit for shareholders). 
The diagram does get knowledge, but there is an incorrect 
identification of the profit line. There is further analysis in terms 
of the owners being risk takers and again in the next paragraph 
in terms of re-investing profits and it being cheaper than getting 
a loan, this takes it to good analysis. Evaluation starts during the 
bottom of the first paragraph on page 15 in terms of it depends 
upon the type of firm, but this is only limited, because it is a 
stated point at this stage. On page 16 the evaluation becomes 

good in terms of ‘divorce of ownership and control’ and ‘profit 
satisfice to please shareholders’ There is also good application 
to the real world,   ‘football’ and ‘Apple’ and then ‘Amazon’.  For 
strong evaluation there needs to be a judgement, and this is 
on the additional pages when the answer talks in terms of it 
depends on short run and long run and is justified in terms of 
increasing market share first then profit maximising in the long 
run. There is strong knowledge and application, good analysis, 
and strong evaluation, which is level 5. The mark of 23 is due to 
the analysis only being good so middle of the level.



Th
e 

sm
al

l p
ri

nt

We’d like to know your view on the resources we produce.  By 
clicking on the ‘Like’ or ‘Dislike’ button you can help us to ensure 
that our resources work for you.  When the email template pops 
up please add additional comments if you wish and then just click 
‘Send’.  Thank you.

Whether you already offer OCR qualifications, are new to OCR, or 
are considering switching from your current provider/awarding 
organisation, you can request more information by completing the 
Expression of Interest form which can be found here:  
www.ocr.org.uk/expression-of-interest

OCR Resources: the small print
OCR’s resources are provided to support the delivery of OCR 
qualifications, but in no way constitute an endorsed teaching 
method that is required by OCR. Whilst every effort is made 
to ensure the accuracy of the content, OCR cannot be held 
responsible for any errors or omissions within these resources.  
We update our resources on a regular basis, so please check the 
OCR website to ensure you have the most up to date version.

This resource may be freely copied and distributed, as long as  
the OCR logo and this small print remain intact and OCR is 
acknowledged as the originator of this work. 

OCR acknowledges the use of the following content:
Square down and Square up: alexwhite/Shutterstock.com

Please get in touch if you want to discuss the accessibility of 
resources we offer to support delivery of our qualifications: 
resources.feedback@ocr.org.uk

OCR is part of Cambridge Assessment, a department of the University of 
Cambridge. For staff training purposes and as part of our quality assurance 
programme your call may be recorded or monitored. 

© OCR 2017 Oxford Cambridge and RSA Examinations is a Company 
Limited by Guarantee. Registered in England. Registered office 1 Hills 
Road, Cambridge CB1 2EU. Registered company number 3484466.  
OCR is an exempt charity.

General qualifications
Telephone 01223 553998
Facsimile	 01223 552627
Email general.qualifications@ocr.org.uk

Looking for a resource?
There is now a quick and easy search tool to help find free resources 
for your qualification:

www.ocr.org.uk/i-want-to/find-resources/

www.ocr.org.uk/alevelreform

OCR Customer Contact Centre

mailto:resources.feedback%40ocr.org.uk?subject=I%20liked%20the%20A%20Level%20Economics%20Exemplar%20Candidate%20Work%20-%20H460/01%20Microeconomics%20Summer%202017%20examination%20series
mailto:resources.feedback%40ocr.org.uk?subject=I%20disliked%20the%20A%20Level%20Economics%20Exemplar%20Candidate%20Work%20-%20H460/01%20Microeconomics%20Summer%202017%20examination%20series
http://www.ocr.org.uk/expression-of-interest
mailto:resources.feedback%40ocr.org.uk?subject=
mailto:general.qualifications%40ocr.org.uk?subject=
http://www.ocr.org.uk/i-want-to/find-resources/
www.ocr.org.uk/alevelreform

	Contents
	introduction 3 
	Section A 4 
	Question 1(a) (i) 4 
	Question 1(a) (ii) 5 
	Question 1(b) 6 
	Question 1(c) 7 
	Question 1(d) (i) 9 
	Question 1(d) (ii) 10 
	Question 1(e) 14 

	Section B 18 
	Question 2 18 
	Question 3 25 

	Section C 33 
	Question 4 33 
	Question 5 39 





